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#E Jile wordcount.py 1
from mrjob. job import MRJob

class MRl:.Ic:r"d{InJunt[MIﬁD:b}:
def mapper(self, , line):
for word in line.split('\t"):
Oield(wor‘c@ 1)
def reducer(self, word, counts):
yield({word, sum{counts))

if name_ == "_main N
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%0 %file wordcount.py
from mrjob.job import MRJob
class MRWordCount(MRJob):
def mapper(self, _, line):
for word in line.split('\t'):
yield(word, 1)
def reducer(self, word, counts):
yield(word, sum(counts))
if_name__ =="'__main__":
MRWordCount.run()
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! python wordcount.py D:/datafinputdata.txt
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:HDFS &
! python wordcount.py —-r hadoop hdfs:///tpdata/inputdata.txt
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